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Subnetting



Subnetting

• A subnet is a logical subdivision of an IP network

• The process of dividing  a network into two or more networks is called subnetting.

• The main purpose of subnetting is to help relieve network congestion ,and improve network performance .

• Security is another benefit of subnetting.

• Know some knowledge a bout subnetmask,network ID,host ID,broadcast ID



task

For example for Network ID :

Create three separate networks or subnets

Your task is to list: 

Nework ID

Subnetmask

Host ID range

Number of usable host IDs

Broadcast ID



Powerful table



Task



Subnetting a subnet 

125.23.200.64/26
Network ID

Three separate subnets for three different departments

FLSM stands for fixed length subnet mask  



Subnetting a subnet 



Notes 

• If you see a subnet with CIDR from /24 to /30 you can use C Table .

• If you are given a subnet with CIDR value from /8 to /23 you can use B Table .



CIDR

Classles inter domain routing .

CIDR means subnetting.

The class license loses meaning ,that is why the letter C in CIDR means “Classles”.

The main purpose of subnetting is to break the class license so that we can have more smaller-subnets .

The initial goal of CIDR was to slow the increase of routing tables on routers across the internet and decrease 

the rapid exhaustion of IPv4 addresses. As a result, the number of available internet addresses has greatly 

increased.

https://www.techtarget.com/searchnetworking/definition/routing-table


Class B subnetting table 



Task



Class B ID 



Task

• The new subnetmask is/18

• Each subnet has 16382 usable host IDs



VLSM subnetting 

• The example that we  explained before ,we used Fixed Length Subnet Mask subnetting or FLSM subnetting .

• In FLSM subnetting all subnets are of equal size with the same subnet mask .

• The FLSM subnetting is easier , this type of subnetting leads to inefficiencies and waste in terms of ID 

allocation and use .

• VLSM stands for variable length subnet mask .

• In VLSM subnetting we can get different subnet masks for different networks 



Simulation Question 



Task





Which is the largest possible contiguous block of the remaining address?



In summary

• VLSM subnetting is a more efficient way of subnetting is a more efficient way of subnetting compared with 

FLSM subnetting.

• With VLSM subnetting we can get the minimum number of host IDs to meet  networks with different sizes.

• NEXT webinar VLSM subnetting –subnetting a subnet . 



Q&A


